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16P/304/3
No. of Questions : 100
wa’ra»ﬁaw 100
Time : 2 Hours Full Marks : 300
TqT : 2 qug quIfE : 300

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted SJor each incorrect

answer. Zero mark will be awarded for each unattempted
question.

aﬁéﬂﬂfﬁtﬁﬁﬁﬂ%%ﬁmﬁwwﬁmﬁzﬁqws(eﬁﬁ)
B B ¥ gEm T G # W 0% ofw Fer @
S TR 99T BN A Y7 B |

(2) If more than one alternative answers seem to be approximale to
the correct answer, choose the closest one.

S THITAH IHTH IR TE I B Five diq &, aF Prepeaw
qE I T

01. Which of the following are the main sources of knowledge about Indus
Vally Civilization ?

(1) Inscriptions

(2) Coins

(3) Palm and barch leaf manuscripts
(4)  Archeologicl excavations

Frafafaa & @ @ &y U 99l B o ¥ oreerd
P ¥ 7 : ¥ I

(1) i (2) R
(9) dTs @d qigfefy o= (4) TS S

P.T.0.
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02.

03.

04.

0S.

The statue of Gomateshwara at Sravanabelagola was built by :

(1) Chandragupta Maurya (2) Kharvela

(3) Amoghavarsha (4) Chamundaraya
FoEerer & weagex @ gfd @ T e

(1) =< 9 9 (2) @RI |

(3) STHIEEY F (4) argEsIE |

The caves and rock-cut temples at Ellora are :

(1) Buddhist (2) Buddhist and Jain

(3) Hindu and Jain (4) Hindu, Buddhist and Jain
TR b e o weped HRT (Acrpd AfeR) Be o | weti € 7
(1) o= & (2) A& TF ST uH

3) fEg wd = g 4) Ry, 9rs @ 59 g4

Astpradhan was a Council of Ministers in :
(1) The Gupta administration

(2) The Chola administration

(3) The Vijaynagar administration

(4) The Maratha administration

sree HEET @ aftag Read e © 7

(1) T JE (2) T HAET
(3) ReETR e (4) HTEST H2MEHT

Who advocated the concept of Anuvrata ? |
Mahayana Buddhism (2) Hinayana Buddhism
(4) The Lokayata School

.
(1)

(3) Jainism



06.

07.

08.
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HIFT fqar & foraa | iy e ?

(1) #Her™™ d9rs (2) BEE 9=
(3) o= (4) BT
Chanakya was known as :

(1) Bhattasvamin (2) Rajasekhara
(3) Vishnugupta (4) Visakhadatta
AT fRE AW/ ST o e ?

(1) wer9af= (2) TILER

(3) I%Tﬂgggw-r (4) furEEE

Ashokan inscriptions were first deciphered by :

(I) Buhler (2) Robert Sewell
(3] James Prinsep . (4) Codrington
AN B ARRET B aduery B ger ?

(1) g 2) = daw
(3) g ffay (4) ST

Which one of the following is a monument constructed by
Shershah ?

(1) Kila-i-Kuhna Mosque at Delhi

(2) Atala Masjid at Jaunpur

(3) Barasona Masjid at Gaur

(4) Quiwwat - al - [slam Mosque at Delhi

ﬁmﬁﬁqaﬁéﬁﬁ—aﬁs‘mﬁﬁmgmﬁr&h%?
(1) T - @ - a1 wfor, Recht

(2) ST AR, Sy

(3) IS AR, A

(4) FHET - 9 - W AR, Reet

PTao.
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09. The Ryatwari settlement was introduced by the British in the :
(1) Bengal Presidency
(2) Madras Presidency
(3) Bombay Presidency
(4) Madras and Bombay Presidency

tETArEt e Bt e wid § oo ?

(1) &@Ta Jdie=q o (2) wEE JER=d H

(3) 9= DER=R § (4) ¥=9 Ud It g #
10. Which one of the following territories was not affected by the revolt of

1857 2

(1) Jhansi (2) Jagdishpur

(3) Lucknow (4) Chittor

T H W N 91 Uk & 1857 & fakie @ wwifea Y em ?

(1) = (2) STTEITgR

(3) &I (4) PR

11. Which one of the following pairs is correctly matched ?

(1) Battle of Buxar — Mirzafar Vs. Clive
(2) Battle of Wandiwash - French Vs. East India Company

(3) Battle of Chelianwala - Dalhousie Vs, Marathas

(4) Battle of Kharda - Nizam Vs. East India Company
Brfafag § @ @F-A1 Slier gAfed 8 7

(1) s B I - WX Y ud agd

o) A & IR - IR ud 5% 31T HUAl
) Fofast T FF - STERN od wwer
BECE

6



12.

13.

14,

15.
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Upliftment of the dalit classes was the main programme of the :

(1) Prarthana Samaj (2) Satya Shodhak Samaj
(3) Arya Samaj (4) Rama Krishna Mission
AT M & g T BT o
(1) urfAT g9y @5 (2) HOMYH O
(3) Sd HHTST oy (4) IHHST IE @7
The first Indian ruler who joined the subsidiary Alliance was :
(1) The Nawab of Oudh (2)  The Nizam of Hyderabad
(3) Peshwa Baji Rag 11 (4) The King of Travancore
%ﬁﬁmﬂw?m%mwmaﬁmﬁwm?
(1) @y & g (2) TREE # e
(3) Y& AR faretig (4) FEERR F e
Who among the following ladies wrote a historical account during the
Muglal period ?
(1) Gulbadan Begam (2) Noorjahan Begam
(3) Jahanara Begam (4)  Zebun - nissah Begam
Wﬂﬁ%ﬂﬂ%ﬁ%w&%ﬁaﬁsﬁqﬁfa&mq&?
(1) IR Py (2) IXTET
(3) STEISRT Iy (4 SGI-FrT Sy
The Mansabdarj System introduced by Akbar was bormwed from the
System followed in -
(1) Afghanistan (2) Turkey
(3) Mongolia (4) Persig
7
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16.

17,

18.

SRR X HuEerd A wgl a o ot ?
(1) STHMTEE 8 2 gHa

Who among the following is not associated with medicine in ancient
India ?

(1) Dhanvantri (2) Bhaskaracharya

(3) Charaka (4) Susruta

X- efficieney concept was formulated by :
(1) Ragner Nurkse (2) Rosenstein Rodan
(3) Singer (4) H. Leibenetein |

W—maﬂmmé‘rnéaﬁ:
(1)?1??33#%@? (Q)ﬁﬁﬂqﬂ?ffgﬁ%m

() & & (4) ae. AR & &

ording to Rosenstein Rodan the best way to economic development

AccC
15
(1) t
(o) Grea

la
(3) A ba '
() SUongEXWﬁtPﬂmy

o make the economy disbalanced purposily
rer social development
nced and huge programme of development
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20.

16P/304/3

N AsH & AFAR A R & g gaq sresr adw
F

(1) orelegamen I AHIHHT SR T |

(2) GBI AMHISTH forenrd |

(3) TRy = o wyfa o Rsmer wEHa |

4) Gze Fafa #ify)

The economic condition of low income countries unable to develop
themselves has been explained as Quasi stable Equilibrium” by :

(1) Gunnar Myrdal (2) A.W. Lewis
(3) H. L. Leibenstein (4) R. Nelson

©@a | T F 7 oraue & A i Q9 e Bl a1
Rerc-aramaean” & wq o fpad arr gaemar T 2 7

(1) T=x frsfa (2) Q.35 I

(3) UH.UH. a2 (4) . AeqT

In Harrod Growth Model, G = G, < G_ implies :

(1) Deflation

(2) Absence of perfect employment in the market
(3) Under utilization of production capacity

(4) Condition of inflation

&z fambrg A & G=G, <G & ard ® -
(1) STl

(2) TR F gof o o ergaRefy

(3) ST &l T get mEinT |

(4) TEehiiT @t fRefey

P.T.0.
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21. The technical progress with fixed profit rate but increasing output —

22.

23.

capital ratio is called :
(I) Labour Intensive (2) Neutral

(3) Capital Intensive (4) Learning by doing

Rt Tr1a ey et &€ Swaree ol Srur & |1 Jebeiat T
T FHeT A S

(1) =9 T&=ar (2) ST

(3) TS TEmar (4) & H drET @ AR

The process of growth is fundamentally unstable. This view is related
fo:

(1) J. Robinson (2) J.E. Mead
(3) R. M. Solow (4) Harrod Domar

Hgfa @1 gftear Hifee @9 & o= B ¥ faw fFFaa =g
2

(1) =t WA (2) . 3. dis

(3) IX. TH. @I (4) ¥ %

Wagner’s Law is :

(1) Law of wages

(2) Law of constant returns

(3) Law of expansion in state cxpenditgre
(4) Law of decrease in agricultural output

7 o FrEE
(1) =w @ FEE (2) Rex ufaws @0 Fam

2 o == i R & e (4) Y S & B @&

10
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24. The principle of ‘Big Push’ was given by :

25.

26.

(I) R. Rodan (2) E. Domer

(3) J. Robinson (4) A.W. Lewis

‘92 gFH’ B fowrd @ ufres fear @ Or ¢

(1) SR, Vs FW (2) 3. SMT &

(3) of. I+ zm (4) T. s=. «fqd @™

During which of the following Five Year Plan periods, Indian econom:
showed negative growth ?

(1) Third (2)  Fifth (3) Seventh (4) Ninth

. 5
%ﬁ%@ﬁaﬁamﬁ%wwWaM TR

(1) I (2) deq (3) 9<H @) =i

Which one of the following is true with regard to Income Tax in
India ?

(i) Thisis a progressive tax

(i) Thisis a direct tax

(iii) This is collected by state governments

(iv) This is a proportional Tax :

Select the correct answer using the following code :

(1) onlyi (2) onlyiand ii

(3) onlyi,ii and iii (4) only ii, iii and iv
ﬁ*ﬂ%@ﬁﬂﬁ#ﬁ?—wwwﬁw%mﬁm%?
0) =® % st #y )

(i) T% T g=gar &y &)

(i) I I {HR ERT @ fRaT e B

(iv) I8 U STguIfcrh &y 2
(1) e @ Fiand i

(3) e i, ii T i (4) A, it gy

11
P'T.O.
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27. SEZ (Special Economic Zone) Act came into force in India in the year :
(1) 2004 (2) 2005 (3) 2006 (4) 2007

T .5 (ﬁrﬁqeﬂﬁmé—q’)aﬁﬁmﬁﬂﬁﬁaﬁrw@ﬂ?
(1) 2004 (2) 2005"  (3) 2006 (4) 2007 &

28. Which of the following maintain Foreign Exchange Reserves in India ?
(1) Reserve Bank of India

(2) State Bank of India
(3) Finance Ministry, Government of India

(4) Export — Import Bank of India

Prfafad & § @M 9 § R ger e 9l W ¥ 7

(1) sRag Red d@ (2) wRAE Ve 9%
3) e 7w, IRT AR (4) qrReta sTEE-fa S

29. The concept of performance budget has been taken from :

(1) Germany (2) France (3) U.K. (4) U.S.A.
e goie @ STaUReT & ¥ ©

(1) st & (2) wig 9

(3) F. & 8§ (4)@@%%

30. Regional Rural Banks :
(ij Have limited area of operation
(i) Have free access to liberal refinance
(i) Are required to lend only to weaker sections
crect answer using the following code :
(2) il & ii
(4) 181

facilities from Nabard.

Select the cO
(1) 18 il
(3) i, il & i1

12
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32.

33.
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&= Aoy St

(i) = Heidw Gt

(i) P E § AR g A ghrer ur B

(iii) % ST DT HANT JOT Y HOT GG AT AT D
ﬁwﬁi@aaﬁﬁwmwuﬁwaﬁ:

(1) igiii (2) i i

(3) i, ii & i (4) igii

NRHM (National Rural Health Mission) was started on :

(1) 15 August, 2002 (2) 31 March, 2003
(3) 18 June, 2004 (4) 12 April, 2005
TSI AT TRen frem gps Rear e -

(1) 15 STTET, 2002 Ft (2) 314rd, 2003 FHr
(3) 18 [, 2004 F (4) 12 378, 2005 H

In which year India became a member of WTO ?
(1) 1995 (2) 1996 (3) 1997 (4) 1998

ﬁﬁﬂaéwﬁaawmaﬁaﬁrwam?
(1) 19957 (2) 1996% (3) 1097 % (4) 1908 %

population growth during 2001 - 2011 ?
(1) Goa (2) Kerala (3) Karnataks (4) Nagaland

13
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34. India is considered a country with Demographic Dividend due to the

35.

36 National Horticulture Mission was star

fact that :

(1) She has most population below 15 years of age

(2) She has most population in 15-64 years age group
(3) She has most population above 65 years of age

(4) It is second highly populated country of the world
Fr=feiag & 9 feg aeg & HIROT AT ol STAFIRAHII ATHILT ATl
Q9 HHT Ser ®?

(1) T 1599 | HA Y I STErdd Faifeen 1
(2) FET 15-64 I9 FI MY IR AR TS 8 |
(3) FEl 65ad q aiftes oy Al oTETEl FAlY® < |
(4) @& fasa @ qEV ais SHHEA a3 |

Liberalization in India started with :

(1) Changes in Industrial Licensing Policy

(2) Convertibility of Indian rupee

(3) Removal of operational obstacles for F.D.L.
(4) Important deductions in tax rates

ARG H ISR & GOl -

(1) henfre agdRT iy § aRedT & T

(2) TRAE w9 @l gRexHE & A

(3) mfaawﬁﬁasra‘;qﬁ—maﬂﬁweﬁaﬁaaﬁ%wn
@) S A Aol wERR & A

ted during :
(2) 10* Five Year Plan

(1) 1° Five Year Plan |
gth Five Year Plan

(3) gth Five Year Plfxn (4)

14
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38.
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T arEE e g% fear @ o
(1) 118 Joadt areET & (2) 104 Yoyl Fre=m |
(3) odf duada o H (4) 8df doadi g #

Which one of the following sectors in the greatest contributor in our
National GDP ?

(1) Agriculture and allied sectors

(2) Manufacturing, construction, electricity & gas

(3) Service sector

(4) Defense & Public administration

i e & & a1 o s Ui we Ry I # wad
TST AR et & 7

(1) BT T da= &=

(2) Tafwmir, fmior el g g

(3) &aT &

(4) @1 T B AT

Which one of the following is not included in Human Development
Index ?

(1) Life ExPeCtanCY (2) Real per- capita Income
(3) Social Inequality (4) Exports

ﬁﬁ%ﬁaﬁﬁﬁﬁq—mwﬁm@mﬂmﬁ%?

(1) SiiET s (2) artas gfq afe
(3) AMSTH STEmTaT @)

15 P.T.O.
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39. Which one of the following are not in harmony with the system of

40.

41.

rule of Law ?

(1) Independent Judiciary

(2) Administrative courts

(3) Administrative Law

(4) Discretionary powers of officers

Frafofad & @ @9 T A A6 TG B A g T8
TEar € 7

(1) EdH =EaTs (2) TomElYEH STt

(3) gemafTE FHIA (4) orfEmiEl &1 faaemiEasr
Who said that ‘state is a society of societies ?

(I} A.D. Lindsay (2) H.J. Laski

(3) Miss M. P. Follet (4) A.J. Penty

(1) €. &t. fdi=a (2) TH. ST. @TEh

(3) P g9, dt. Hie 4) T. . =

The social contract theory contributed to :

(1) Democracy

(2) Growth of autocratic system of government
(3) Emergence of Socialism

(4) The rise of absolute monarchy

AT aHEar fasTT @ e ©
(1) waa H
() TTET @ PRy o & e 7

(3) FHEEE & I H |

(4) gof TeraEt & G 7 |

16
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Which one of the following theories say “some basic rights can exist
outside and even prior to society” ?

(1) Legal Theory (2) Historical Theory
(3) Welfare Theory (4) Natural Rights Theory

Fied § @ BH-a1 fer #ea § “gp ga AeR qae
g o oiRaa § &7 ?

(1) s e (2) e Rem

(3) wHATOTHR Ryera (4) "l AR @ e
Who said “ War is to men, what maternity is to women” ?

(1) Winston Churchill (2) Mussolini

(3) Hitler (4) Subhash Chandra Bose
e ®el SN ge & R g ® @l wht & R age &7 7
(1) R aff (2) e

3) fEewx (4) G99 =% 99

The Indian National Congress observed “ Independence Day “ for the
first time on 26 January in :

(1) 1920 (2) 1925 (3) 1930 (4) 1947
AR TS FET ¥ Teeh A 26 FAH B eqeimar R g
(1) 1920% (2) 1925% (3) 1930%F (4) 1947 H

Article 315 of our constitution refers to :
(1) Recruitment and condition of service of persons
(2) All India service rules and safequards

(3) Public Service Commission for the Union and a Public Service
Commission for each state.

(4)  Tenure of office of persons services the union or a state

17 P.T.O.
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46.

47.

AR g &1 STg8E 315 gaiyd © -
(1) =afeadl @t 9t ug qar 1 9 9
(2) i AR Farelt & Fram od gRem IUE 4|

(B) Ta P T @i Tar AT TE TAH 9 & [Q dleh qal
AT Q@

(4) T AT T & R [ar gerel & wriwe |

Who first described the Indian Political System as one party dominance’
to explain the Congress Party’s hegemony in India ?

(1) W. H. Morris - Jones

(2) Rajni Kothari

(3) Myron Weiner

(4) Lloyd Rudolph and Susan Rudolph

e 7 B grdl B oTfude @ ATEAr B B e FayEH e
Il TR ekl Y T aWid 9 B ®9 # afvra e ?
(1) == <& MRY - S

(2) IO HTd

(3) HERA &MY

(4) WS WETH AR T SSITh

Karl Marx described the earlier socialists as :

(1) Democratie socialists (2) Utopian socialists
(3) Scientific socialists (4) Liberal socialists
FIdl TR A ORI gEoEedt H e

(1) wrehaiien SHeERT (2) @A FHSER
(3) Istiver QIO 4) §Eﬁﬂﬁﬁ SEIECIC

18
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Which one of the following is called the ‘Fourth State’ ?

(1) Bureaucracy : (2) Judiciary
(3) Press (4) Political Parties
Fraffas & @ B5a e o’ @er ST ¥ 2
(1) repeeme (2) =aEYTfeTERT
(3) 3« (4) TR a
Who nominates the chairman of the Public Accounts Committee of
the Indian Parliament ?
(1) Prime Minister
(2) President
(3) Speaker of the Lok Sabha
(4) Chairman of the Rajya Sabha
AR T B W AT AR B st B D AR war
(1) gyr=E=h | (2) rsgafey
(3) e T & Ifeqer (4) TS AT HT 8T8y
The first effective attempt by the nationalists for drafting the
Constitution for Independent India may be traced back to :
(1) Poona pact (2) Sapru Report
(3) Nehru Report (4) Rajaji Formula
WW’*WWWWW%WWW
Y& DTl gare et
(1) T E=shar & (2) wg Rae &
(3) “&s R § (4) oIl g
Who said, “Will not force, is the basis of state” ?
(1) T. H, Green (2) Krabbe
(3) J.S. Mill (4) Rousseay
19
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52.

S3.

54.

“T T ATYR ATFT A8, 3T 877, U8 HUA fhdawr 8 7
(1) &. =@ 99 & (2) @I &
(3) . wH. Bt @ (4) =Er &

Under which article of the Indian Constitution Right to Constitutional
Remedies has been provided to Indian citizen ?

(1) Article 368 (2) Article 21
(3) Article 243 (4) Article 32

AR d@faae & e oy # A Ariiet # dadiie
SUERl &1 IfYER ge fRar war § 7

(1) STI=B8% 368 : (2) AT 21

(3) STTHT 243 (4) STV 32

Who of the following did not belong to Swaraj Party ?

(1) Motilal Nehru (2) C.R.Das

(3) Ballabh Bhai Patel (4) Bitthal Bhai Patel
=g & & @ @S el § g3 T8 o 7

(1) AN o s (2) . IN. TH
(3) aewTH A1 g (4) frgew 9@ ud
Who is the speaker of the Lok Sabha ? o

(1) Meira Kumar (2) Shivraj Patil

(3) Sumitra Mahajan (4) Nirmala Sittaraman

oY TAT T T B B 7
(1) ¥ AR i

e drarAd
(3) gfEET AEw (4)

20
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55. Which one of the following is not a member of SAARC ?

(1) Afghanistan (2) Bhutan
(3) Mynmar (4) Bangladesh
T & § @ <89 & gaed 8 8 ?
(1) STHEM—EH (2) g™
(3) =M (4) STARST

56. Who of the following is the Secretary General of the U.N. ? |
(1) Ban Ki Moon (2) Kofi A . Annan
(3) Butras Butras Ghali (4) U.Thant
HIHRT AT & Heraraa @ § ?
(1) I @ g7 (2) B T. T
(3) IAE g = (4) g g

57. Which one of the following committees did not relatc to Panchayati
Raj in Inida ? .

(1) Balvant Rai Mehta Committee
(2) P.K. Thungan Committee
(3) Dinesh Goswami Committee

(4) Ashoka Mehta Committee

Frficied & & A=<t afifr derae <o X =l gt @ o
(1) FE=<RE Hear affy @ @ B, g gy
(3) fHwr Tramdt aftfy (4) o9l e wfuRy

21
P.T.0.
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58. Who wrote the book 'Hind Swaraj' ?

(1) Jawaharlal Nehru (2) Maulana Abul Kalam Azad
(3) Subhash Chandra Bose (4) M. K. Gandhi
o =T e g @ dws A € 7
(1) STarEa 98s (2) AEET AFA FAH T
(3) AT THE a9 (4) Heaard HIHES T
S9. A city, a town and village are examples of :
(1) Social group (2) Formal Association
(3) Community (4) Geographical area

RIEAICTS 1 O i i xS

(1) =t a8 & (2) Mg @A &
(3) WA & (4) HArnfers &= B
60. A group to which we compare ourselves when we judge our own status
is called :
(1) Kin group (2) Peer group
(3) Secondary group 4) Reference.group

UF guE REd g B 89 AUl oRefd @ T B R T
ETNIRIN |

(1) & e 2) R aIE
@) fedos wge @) dast wE
1. “Socicty is a web of social relationship" whose statement is this ?
J i N s .
(1) Karl Marx (2) Durkheim
(3) Weber (4) Maclver
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65.

16P/304/c

“HHIST GHISTG TR @ ST & 98 iR et © 7
(1) et A (2) @™
(3) F= (4) HepEER

Bhakti Marg, Gyan Marg and Karma Marg are the ways to achieve
which of the following purushartha ?

(1) Dharma (2) Artha
(3) Kama (4) Moksha

(1) o (2) oret

(3) =™ (4) wIer

Srinivas gave his concept of sanskritiztion on the basis of his study of :
(1)  Sripuram in Tanjore (2) Coorge in South India

(3) Rampura in Mysore (4) Shamarpeet near Hyderabad
HERIIRTOT %0l STqeren shfvare I Red oreras & TR 9% Rar B 7
(1) TR % =fgey (2) T wRa &

(3) YR F Iy (4) TRERE P 9T gIde
‘Urbanism is a way of life’. Who said this ?

(1) J. A. Quinn (2) Louis Wirth

(3) R.E.Park (4) Kingsley Davis

TR e & i 1 o goreh ¥1 92 HoT Reaw © 7

(1) . q. =g (2) g9 gd

(8) &R %. 9w (4) Revae R

Who said “ The histroy of all hitherto existing societies is the history
of class struggle’ ? :

(1) Karl Marx (2) Max Weber
(3) Ralf Dahrendorf (4) Lewis Coser

3
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66.

67.

gkeﬁiﬁar%,‘%ﬂaEﬁﬁé%z?ﬁr%Fﬂﬁﬁiﬁrsﬁﬁﬁa'aﬂ“ﬁuﬁimrsﬁﬁﬂﬁ
3 7

(1) et A (2) Feg AT

(B) ITF ST (4) ARF FHIeX

E. Sutherland founded the theory of :

(1) Blue Collar Crime (2) Crime by dacoits

(3] White Callar Crime (4) Cyber - Crime

5. "aiE J Fretataa § @ B Rear & gferaTes fehar ?
(1) = FRER YT (2) ;ﬁ@aﬁ ERUCERE

(3) =1RT AT YAY (4) QrEEX YA

What is structure according to A Giddens ?

(1) Patterns and standard of behaviour of actors

2) Roles and resources that actors use in interaction contexts

(3) Values and ideals that regulate the conducts of human beings

(
(4) Groups and collectivists that are formed in the course of social

interaction

T, MIgT & SIgER |3 @& g ?

(1) IfAaeT & aer § ufaa ok AT |

(2) srarg e & ofwey § imar & Fam ol EardT |
(3) uwa ok swmasl St A & SmERer @ fAfwEi w1 ¥
(4) HHifTh S B & A g ar g9 Sl SR |

Which one of the following is not a type of capitalism according to

Habermas ? | o
(1) Informational Capitalism (2) Liberal Capitalism

(3) Organised Capitalism (4) Post Capitalism
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Who among the following introduced the term “Post Industrial
Society” ?

(1) J. Burnham (2) J. K. Galbraith
(3) Daniel Bell (4) R. Dahrendorf
‘TR - NANFE TN U T gad w@nT Reed Rear e ?
(1) o Fgq 2) . B. MRy
() =fraw I (4) 3R. SEISTS

The Tebhaga and Telangana movements look place in the state of :
(1) Bihar and Andhra Pradesh respectively

(2) West Bengal and Andhra Predesh respectively

(3) Andhra Pradesh and West Bagal respectively

(4) West Bengal and Bihar respectively

ﬁwamﬁaﬁmeﬁaﬂﬁmwﬁigﬁﬁﬁﬁa?
(1) A R aur ary g2y 7

(2) AT 9= S qr et wRer & |

(3) PR AT SeST T 9REw Sy F

(4) A UiEH T qen R §

Which among the following tribes is matrilineal in India ?

(1) Khasi (2 Munda  (3) Santha] (4) Onge

wﬁ%@aﬁ@%ﬁmﬁm@aﬁqg?
(1) @rEt (2)  Huer (3) Herey (4) afpf

25
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72.

Who among the following explained for the first time in Sociological

literature Jajmani system as patterned interaction among the caste
groups ?

(1) William Wiser (2) Oscar Lewis

(3) A.R. Desai (4) Yogendra Singh

Fr=ifeiaa & & Reaa 9ech aR STOTTH] SHewen i e S age!
G A g i Bhar & &9 F A1 oA 7

(1) faicas aigsX (2) et Afa|

(@) Tw. ITR. AT (4) ar= fYe

73. Who among the following called village community as a “ Little

75.

community” ?

(1) Max Mueller (2) Toennies

(3) Henery yaine (4) Robert Redfield

Frifeiad 3 @ frae amieT qgeE S ag wgEE e w7

(1) A9 4ol (2) e

(3) B0 I (4) Ve TTHIES
74. The concept of Looking Glass Self is given by :

(1) Mead (2) Marx

(3) Cooley (4) Durkheim

oy @1 SrauRen BhEd g A TR

(1) #Hs (2) W

@) (4) g™

Who said ‘Religion is a belief in spiritual power” ?

(1) Frazer (2) Tyler

[3J Mazumdar (4) Dubey
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e fhae et % ud smegifonss uf § R B °?
(1) oY (2) TERX

(3) HAYHREK (4) gd

Who among the following had studied the ‘Great Six Religions of the
world ?

(I) Durkheim (2) Weber

(3) Tonies (4) Parsons
ﬁ?ﬁf@ﬁﬁﬁﬁ?ﬁﬁﬁaﬂ%wazqﬂwamm?
(1) 3@ (2) F=

(38) SIS (4) 9Eg

Who has given the concept of ‘Dominant Caste’ ?

(1) Durkheim (2) Parsons

(3) M. N. Srinivas (4) S. C. Dubey
S S @ srauaen ey ey ?

(1) gei () IREH

(3) uH. uH. sfifEm (4) wa. 9. @
The term ‘Sociological Imagination’ was coined by :

(1) P. Berger (2) C.W. Mills

(3) J.S. Mill (4) Kingsley Davis
HAAAHT Feq T A=A T T

(1) 9. 9% & (2) d. s=1. frew
3) . wH. e @) TrEd Wy

When Ed.ward Titchener brought Wundt’s Psychology to the Uit
States, his methed for €Xamining conscious mental life involved th
use of the experimental technique known as : g

(1) Structuralism (2) Functionaligy,
(3) Introspection (4) PSYChO&nalysfs

27
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81.

514 Ugds feumy gue & meifase ) dge Tod ol S a6 3T
A0 T T A % T o e R A

() WREER (2) uebrdaTE

(3) ST (4) FEAYREer

Which of the following neurotransmitters affect neurons involved in
learning, dreaming and waking from sleep ?

(1) Serotonin

(2) Gamma Amino Butyric Acid

(3) Acetylcholine

(4) Norepinephrine

Fr=ifeied | 9 @lH-91 Egfas qa)e 37 Y g I
2 S orftrm wer 2w ok Fmm @ IeA # o Twd © 7

(1) TR

(2) TET AT HeERe o

(3) uf¥erzaeniier

(4) TRTYHHA

In his work on facial expressions, Paul Ekman has found that :
(1) Darwin’s view of emotion was sulest autially incorrect

(2)  All facial expressions are universal

(3) Cultures express all emotions in the same way

(4) A set of emotional expressions is universal to the human species

Wwﬁaﬁaﬁaﬁaﬁﬂﬁwmﬁmﬁw%:
aﬁqmaaﬂﬂﬁr&ﬁqﬁgﬁmwmn

[2] a—g}ﬁwﬂaﬁﬁ?ﬂﬁﬁmﬂﬁ%%ﬁ?ﬁ%l

ﬂﬁﬁgﬁ%ﬁqﬁﬂﬁzﬁrww%éﬁaﬁwm

@ O

) w3 ﬂmmﬁﬁwwwqﬂaaﬁ%ﬁﬁmm%\
)

28



82.

83.

84.

85.

16P/304/3

The Peterson and Peterson method of studying memory is based on
which of the following technique ?

(1) Probing technique (2) Distraction technique
(3) Anticipation technique (4) Delayed recall technique

e @ dierms @ |- eregmw Rify freafafea & @ B
Thriieh T MG ® ?

(1) BFEN d&Hn (2) TEE dh-ilh
(3) gaITH T (4) ToieR gcamEres aEE

Which of the following is helpful in making problum solving
effective ?

(1) Rigidity (2) Flixibility

(3) Functional fixedness (4) Objectivity

FeitT § A B gE g B g s N w2
(1) ST« (2) =ar

(3) ST ferar - (4) agfrear

The practical intelligence is called :

(1) Concrete intelligence (2) Abstract intelligence

(3) Cognitive intelligence (4) Social intelligence

TIEMRE g @ Har wEr D

(1) T gha (2) orgd gix
(3) WIS v (4) o gik

The view that personality is the function of interaction between
organism and situation is called :

(1) Social Learning theory (2) Cognitive Theory
(3) Conditioning (4) Poychologicg] Theory

29
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86.

817.

88.

ﬁm?%aﬁﬂa,quﬁﬁaﬁ%ﬁaaﬁﬁﬁmaﬁqﬁw
g, %l AT 8

(1) @\ srferm s (2) WA HsT

(3) STgdu= (4) TArEmES e

The socialization stage that encompasses the learning before a new
member joins the organization is :

(1) Encounter (2) Metamorphosis

(3) Ritual (4) Pre arrival

HIATSHRRYT 1 gg oraeen Rrad dred ¥ e+ @ ded &l |ra
aftafera & -

(1) &I (2) T
(3) & (4) ST gd

Social facilitation 1s most likely to occur :
(1)  When the task is difficult and involving

(2) The presence of others relaxes you

(3)

(4) Individual efforts cannot be assessed

AT AxliEReT 8 @ e e Wi 8, 99 ¢
(1) @/ Hi¥ehel TF Gerd &Y ad ar et |

The task is simple and well - learned

(2) FER @ SuRRefy SUHl SR & ATl
(3) A AT T 3T=El Y HAfEfHET 8l
(4) AR YA & YTAET T & 6H |

Under what conditions will groups tend to make better decisions than

individuals ?
(1) When the conditions ane stressful
L) e ALl

(2) When they rely on the person with the most expertise
‘LSJ When cohesivencss is high

30



89.

90.

91.

16P/304/3

(4) When there is a strong directive leader

e aRRefaal & we afea § Jeax Bl @3 & uga @ ?
(1) S aRRefEr qemEger &)

(2) v I H9Q A Fgor a af ) R w1
(3) ST HESTHAT I=T BNy T

(4) 9 FERE HW aer gkt Yo @ T

Which is a primary source for agriculture ?

(1) Manure (2) Fertiliser
(3) Water (4) Seed
B & [ B grafEes g ¥ o7
(1) @rg (2) TR®
(3) i (4) S
Indian council of Agricultural Rescarch Is situated at :
(1) Lucknow (2) Hyderabad
(3) New Delhi (4) Bhubaneswar
WA B SgHa aReg wmet Rew B 7
(1) TG (2) BIVETE
(38) =% fawsh (4) Hanax
Which one of the following is a Kharif crop ?
(I) Barley (2) Lentil
(3) Sesame (4) Linseed
FrfifeT & & @i @ty &t oo ?
(1) s (2) T
(3) ferar (4) STt
31
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92. Which one of the following has highest protein content ?
(1} Bajra (2) Groundnut
(3) Soybean (4) Maize

Frefefag o & frad 919 @ Aty AT gl SRt 8 7

(1) &g (2) el

(3) TN (4) HFER
93. Shahiwal is a breed of :

(1) Buffallow (2) Goat

(3) Cow (4) Hen

JTeET eEe T § 7

(1) = (2) FHA
(3) g (4) T
94. Which of the following is a cash crop ?
(1) Maize (2) Potato
(3) Soybean (4) Sunflower

Preffofag § @ @ 9761 Bad & ¢
(1) TRl (2) T
(3) Qe (4) gEeTgEr

95. Indian Institute of Vegetable Research is situated at :

(1) New Delhi (2) Varanasi
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ARG ool STgdu G el Req & 7

(1) -2 feosi (2) amroTdt
(3) YR (4) T

Richest source of vitamin C is :

(1) Apples (2) Amla

(3) Guava (4) Grapes

TR A= H fqerfa & g s @

(1) q= # (2) oftgem A
(3) oTHEE & (4) SR #
Jaundice’ is caused by the increase of :

(1) Cholesterol (2) Urea

(3] Haemoglobin (4) Bilirubin
e e O @ eftrear § Bar 7

(1) reregTT (2) T

(3) BRI (4) Fferefe
‘Conjunetivitis’ is a disease of : |

(1) Teeth | (2) Tongue
(3) Eye (4) Ear
BNIRIBEAE Yy L

(1) = &t (2) Rt &
(3) == & (4) B
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99. Who is regarded as the father of local govemmelnt in India ?
(1) Lord Dalhousie (2) Lord Rippon
(3) Lord Cornwallis (4) Lord Mountbatten

A H wreitg erad &1 Si9eh fohd HET SaT & 7
(1) < swersh 2) g Ru=
(3) e e (4) e AREeded

100. Which one of the following is not a federation ?

(1) Canada (2) USA

(3) France (4) Germany
Frefafaa & @ @9 o dacrs T8 8 7

(1) et (2) TIFT T SR
(3) wrd (4) ST
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